EARAROBEEIERT — 2 N— IBISH —F

2016558208 (&) SEIA#HS5H

Ll > %—f C3_=

‘ [R1&] & ‘ [RERBE] — | & (£) 12000 B

[A~&£] 17 :800,000  ~ 23&:320,000H ~ 33 :200,000H ~ 43:120,000 ™ 5 & :80,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
“ ss )R8 4. - . - FH 5Lz (KH#H)
11719 T2y AT a7 s ¥¢53.0 1(1_4)6 o %1 ° :1_617) REYDF
LT % T BiOFxaY—-ZT2R HRERS
46 | PHEFIH 1:14.7 6-6 81| — 2 481 | EFHE= (KH)
EH 3| VNE=I 56.0 (3/4) (-4) | EERHE
LY LTAN=—t B:q4JTbT37 Hro—t>
— s LS : = - AR GaFn)
311 1F7vaVa— 7 L 1.(114>.9 8-8 38.1 3 (4_416) ol
R:Tdr—T4FAF—-H> BT F> BiE %
slzlg|INTRET vy L B || el B0 -1 [38.8| — | 1 | 4% fgﬁa&_’ (KH#)
R/ RS vy BASAHARIZT Y © #FAEHU - M- A
SN s = B4 | BOBYE 1:15.2 4-4 38.9| — 6 444 | fERARE— (KH)
51811 B 54.0 ) 4) RS
R:TFv 784K B:RA—bI1UTL B JE—
. o 4 5 | BERE 1:15.3 3-2 39.1| — 7 504 | BBAE (K3H)
6810 - L>/EXZ 54.0 (172) (+g) | BEEE
R:T7Y21743VYF— B:O—-L>I>TN— HEREPHIS
=N A 4 5 | IEOHE 1:15.7 10-9 38.8| — 4 408 | /MNEFFTE (IME)
] o | AN 54.0 o) (-3) |RRE
x4 avRk—-5— BHAAT7T7—-T14X b AR OIS
. HEIBThIR : - — o RFE— (KH)
gl5l5 Loy —> i 4 e (13.116/.24) 11-10 39.4 10 (5:)21) e
L:772UI7 B:TZ9 F)— milll BEEE
N PN BT 7. ~ . - MER (K3)
9 4 AR A 4 4 % 1(157)4 6-6 40.8 1 (4_225) Ié;z;
RiN—=YU54 B:¥aUTvhk BT — L
;= 2 6 | =EiAT 1:17.5 9-11 40.6 | — 9 483 | ERRRAA (KFH)
N c FAREESEY 77| %s5.0 (3/4) 4y | B *3s4Hum
RBATAT v — BibbN— EEEDL ¢
5 s 48 | BHB 1:17.8 2-2 M.6| — 8 452 | FEAEE (A
11 6 YIS R~ 56.0 (1 3/4) (-3) FEABER
LHITTLIFL N BiZY hFan 4535
@ 1 — S —EBlIEf
13—7+—
23—F—
Jol=5r= 8,6,10,11,9,(3,4),1,7,2,5
40—+— |(8,(6,10),11,9,(3,4),1,2,5,7
[ N3
B OB 9 1,310 714K 3-9 740M % E 3-7 330M 3EHE 1-3-9 8,000/
8 B 9 280M 1-9 1,070M B 7-3 680M K31 9-3-1 48,430
3 1704 1-3 480 B E 3-9 2,890
1 160/ B H 9-3 6,730MH

ABICOVWTRDTEEERROODE. TR LIV,




